| 450
(100~ 400)
8 —
be
I
EH;% il S
J s :
L I
S : <
I % X
&
)¢ &
T =- & 45 . B
=
e bl

w
—_
(&3]

A\x

A\x

A\x

A\x

Ax

MARK

ALTERATION CONTENTS

ALTERATION DATE

DRAWN BY

36

T
——1

430

2.5

No. PARTS NAME MATERTAL NOTES QTyY SIZE
@ | WALL MOUNT STEEL BLACK 2 450x59. 5x20
@ | DISPLAY BRACKETS STEEL BLACK 2 430x31. 5x30
@ | BOLT-1 STEEL BLACK CR3 4 M6x60
@ | BOLT-2 STEEL BLACK CR3 4 M6x35
® | BOLT-3 STEEL BLACK CR3 4 M6x25
® | BOLT-4 STEEL BLACK CR3 4 M6x20
@ | BOLT-5 STEEL BLACK CR3 4 M6x12
BOLT-6 STEEL BLACK CR3 4 M5x16
@ | BOLT-7 STEEL BLACK CR3 4 M4x16
WASHER STEEL CR3 4 |OUTER 13-INNER $6.5 t=2
@ | SPACER-A RESIN (ABS) BLACK 4 t10
@ | SPACER-B RESIN (ABS) BLACK 4 t20
@ | WRENCH STEEL CR3 1 M6
SPANNER STEEL CR3 1 M6
A3WRENCH
ADSPANNER

(3BOLT-1

)

0
o o
0 )
=—1¢ 0
— ° o \ 2
o) Ol * §
(2DISPLAY BRACKETS o g
N o
© 0
N o
© o
g 0
(DWALL MOUNT o S
[—) o O
[ S— \ [e)
g —_— NI )
° ;jjjjjffffffjj =S
o ollb
1/ 0
STANP 1 STAWP &R BE = WE | maE= | |Seen T
: APPROVED BY | CONFIRMED BY | PLANNED BY DRAWN BY | PART NO. Di sp I ay Brackets & Wall Mount
| Q ‘%4 MoDEL NO. 7]
| MH-STD11-BK
i YAMAMOTO| SATO | NAKANO | NAKANO |75 M™% e
E -@-E— M NIT IRE f?LE FETE SIZE EE DRAWING NO,
! 3RD ANGLE PROJECTION mm 5

oate: 2016. 11. 8

EAH AM I LER

F=fL ASAHI WOOD PROCESSING CO.,LTD.



30

10,20 , 20 20 20 20 20 20 A 20 20 , 20 , 20 , 20 A 20 , 20 , 20 A 20 20 , 20 L 20 20 , 20
28 2
R : fZ—RZ
‘Lg ) g g gp——— J.J.I_ Py pmggp——— JrC — ot — _— - — — — [ — — — 1 g Spp—— R p——— [pp—p—— | g S p— P [ R —p—— S —— [p—p——— | _______I__ _____
2] Q0000000000000 0000000 -
- I Pl
y, N /| T _TTfo_____ll____ll__________________________________________________________________.____1 ______ - ) M6 TAP
22 C02 welding / 22
02 welding ~
M6 TAP
21-¢9.5 hole
Q
430 N y
74 :
40 °
' o
o = R.5 — 1R2.5 ] ) N
(9] |
i } \ | N
bu | O 0
| 2 19 o o
2-RS f < ) N
29 |7 57 2-R2 :
400 °
“ -
of| p o
°
N %
NOTE) WITHOUT BURR, SHARP-EDGES, LUST.
NOTE) PAINTING COLOR : BLACK (small embossing)
ref. Painting color sample.
STAMP | STAWP -6 1 FEE] ETlE] MEES EBRLHR TITLE
YA ! APPROVED BY | CONFIRMED BY | PLANNED BY | pRAWN BY | PART NO. DISPLAY BRACKET
X ! & WODEL No. T
ﬁx | Q MH-STD11
Ax i YAMAMOTO| SATO | NAKANO | NAKANO [™* ™It o oo ™
Ax : =] [FEWIT RE] SCALE HHTE SIZE : % DRAVING N0,
MARK ALTERATION CONTENTS ALTERATION DATE| DRAWN BY DATE:  2015. 06. 24 : 3RD ANGLE PROJECTION mm / 2 430x30x30

Bl H M 0 LR =%T ASAHI WOOD PROCESSING CO.,LTD.



[ ] 8
450
75 300 75 1250
4-R2
= o 2-¢ 4. 2-HOLE S
Lo
. <
T . L 00
3 dj > 5 ﬁm '\Iéj}a . \f > = =
T [ R [ —
= = d=== |l g==x -
16-R3. 5 ; 2.5
29.5 31 29 31 204 31 29 31 29.5 «© 9-R 5 4“
NOTE) WITHOUT BURR, SHARP-EDGES, RUST.
NOTE) PAINTING COLOR : BLACK (small embossing)
ref. Painting color sample. - o —D
— D —)
o
— D
&X e ESTAMP APP%\%J BY cowﬁw% BY PLAf«%E? BY nnﬁr? BY Eﬁ’%sﬁ? j‘igfiT_”_Li__WAI-_I:_Mp_U_NI _________
ﬁi ; @ = MH-sTD11-BK
AX | YAMAMOTO[ SATO NAKANO | NAKANO (## MATESRTIELEL . PAINTED BLACK faz oty
A\x : = |*EWIT |RE SAE TS E# ORANING 0.
MARK ALTERATION CONTENTS ALTERATION DATE | DRAWN BY ATE: 2016. 11. 8 : 3RD%E PROJECTION|  mm 1/ 2 450x59. 5x20

B H M D LEE 27T ASAHI WOOD PROCESSING CO.,LTD.



